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Modern History

50. By which one of the fo]]owing' Acts
was the Governor General of Bengal
. designated as the Governor General

-of India?

(a) The Regulating Act

(b) The Pitt’s India Act

(c) The Charter Act of 1793
(d) The Charter Act of 1833

4. Consider the following statements about
‘the Charter Act of 1813" :

1.

It ended the trade monopoly of the
East India Company in India except
for trade in tea and trade with
China.

‘It asserted the sovereignty of the

British Crown over the Indian
territories held by the Company.

The revenues of India were now
controlled by the British
Parliament.

Which of the statements given above are
correct?

fa) 1 and 2 only

(b)

2 and 3 only

CSPI19

{c) 1 and 3 only

(d 1,2 and 3
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Q. Which one of the following provisions was
NOT made in the Charter Act of 1833?
CSP2003

a) The trading activities of the East India
Company were to be abolished

b) The designation of the supreme authority
was to be changed as the Governor-General
of India-in-Council

c) All law-making powers to be conferred on
Governor-General-in-Council

d) An Indian was to be appointed as a Law
Member in the Governor-General's Council
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47. “Souls are not only the property~ of
animal and plant life, but also of rocks,
running water and many other natural
objects not looked on as living by other
religious sects.”

The above statement reflects one of
the core beliefs of which one of the

following religious sects of ancient _
India? 47. Which of the following statements

is/are applicable to Jain doctrine?

(@) Buddhism
(b) Jainisin 1. The surest way of annihilating
(c) Shaivi Karma is to practice penance.
(o aivism
2. Every object, even the smallest

(d) Vaishnavism :
particle has a soul.

, ‘ . 3. Karma is the bane of the soul
Q. The Jain philosophy holds that the world is bl Thust Be endid.

created and maintained by CSP2011 CSP13

Select the correct answer using the

a) Universal Law
codes given below,

b) Universal Truth

c) Universal Faith

d) Universal Soul




A&C [ A&GM

45. Consider the following dynasties :

1. Hoysala

2. Gahadavala
3. Kakatiya

4. Yadava

How many of the above dyna
established their kingdoms in {

eighth century AD?
(a) Only one

(b) Only two
(c) Only three
(d) None

34. From the decline of Guptas until the
rise of Harshavardhana in the early
seventh century, which of the following
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kingdoms were holding poy
Northern India? 92.

1. The Guptas of Magadha
The Paramaras of Malwa
The Pushyabhutis of Thang
The Maukharis of Kanauj
The Yadavas of Devagiri

5 S L

The Maitrakas of Valabhi

Select the correct answer us
code given below.

(@ 1, 2 and S CSP2]

(b) 1, 3, 4 and 6

Consider the following pairs :

King - Dynasty
1. Nannuka — Chandela
2. Jayashakti — Paramara
3. NagabhataIl — Gurjara-Pratihara
4. Bhoja — Rashtrakuta
How many pairs given above are correctly|
matched ?
(a) Only one pair
(b)  Only two pairs CSP22
(¢) Only three pairs
(d) All four pairs

(c) 2, 3 and 4
(d) 5 and 6
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33. Which one of the following statements
best reflects the Chief purpose of the
‘Constitution’ of a country?

(a) It determines the objective for the
making of necessary laws.

(b) - It enables the creation of politicJ

offices and a government. 94. Constitutional government means

(c) It defines and limits the powers { (a) a representative government of
government. - a nation with federal structure

d) It secures social justice, socid .

(@) equality and social iecurity. (b) a government whose Head enjoys

cepp] Nominal powers

(c) a government whose Head enjoys
real powers

(d) a government limited by the terms
of the Constitution
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34. In India, which one of the following
Constitutional Amendments was widely
believed to be enacted to overcome
the jUdiCia.l interpretations of the|s. Consider the following statements :
Fundamental Rights?
(a) 1st Amendment
(b) 42nd Amendment
(c) 44th Amendment
{d) 86th Amendment - 4 The validity of a law placed in the Ninth

Schedule cannot be examined by any

) 8 The Parliament of India can place a
particular law in the Ninth Schedule of

the Constitution of India.

court and no judgement can be made on

CSP18 it.

Which of the statements given above 1s/are

correct ?

(a) 1only

(b) 2only

(¢) Both1and 2

(d) Neither 1 nor 2
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1

(a)
(b)

(d)

36. Consider the following statements :

If the election of the President
of India 1is declared void by
the Supreme Court of India, all
acts done by him/her in the
performance of duties of his/her
office of President before the date
of decision become invalid.

Election for the post of the
President of India can be postponed
on the ground that some Legislative
Assemblies have been dissolved
and elections are yet to take place.
When a Bill is presented to the
President of India, the Constitution
prescribes time limits within which
he/she has to declare his/her
assent.

How many of the above statements are
correct?

Only one
Only two

(c) All three

None

29  With reference to the election of the President

of India, consider the following statements :

8 The value of the vote of each MLA

varies from State to State.

The value of the vote of MPs of the

o

Lok Sabha is more than the value of the

vote of MPs of the Rajya Sabha.

Which of the statements given above is/are

correct ? CSP'|8
(a) 1 only
(b) 2 only

(¢) Both 1 and 2

(d) Neither 1 nor 2




Polity

(a)
(b)
(c)
(d)

39. With reference to ‘Scheduled Areas’

in India, consider the following

statements :

1. Within a State, the notification of
an area as Scheduled Area takes
place through an Order of the
President. ‘

2. The largest administrative unit
forming the Scheduled Area is the
District and the lowest is the
cluster of villages in the Block.

3. The Chief Ministers of the

concerned States are required to
submit annual reports to the
Union Home Ministry on the
administration of Scheduled Areas
in the States.

How many of the above statements are
correct?

Only one
Only two
All three
None
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59. The provisions in Fifth Schedule and
Sixth Schedule in the Constitution of
India are made in order to

(a) protect the interests of Scheduled
Tribes
(b} determine the boundaries between

States CSPI15

fc) determine the powers, authority
and responsibilities of Panchayats

(d} protect the interests of all the
border States




Economy

37. With reference to Finance Bill and Money

Bill in the Indian Parliament, consider
the following statements :

1. When the Lok Sabha transmits
Finance Bill to the Rajya Sabha,
it can amend or reject the Bill.

2. When the Lok Sabha transmits
Money Bill to the Rajya Sabha,
it cannot amend or reject the Bill,
it can only make recommendations.

3. In the case of disagreement
between the Lok Sabha and the
Rajya Sabha, there is no joint
sitting for Money Bill, but a joint
sitting becomes necessary for
Finance Bill.

How many of the above statements are
correct?

(@)
(b)
(c)
(d)

Only one
Only two
All three

None

b

Regarding Money Bill, which of the following

statements is not correct 7

(a) A bill shall be deemed to be a Money
Bill if it contains only provisions
relating to imposition, abolition,
remission, alteration or regulation of

CSP18 any tax.
A A A D oo oaaoicione for the
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27. Consider the following statements :

1. The Rajya Sabha has no power
either to reject or to amend a
Money Bill.

2. The Rajya Sabha cannot vote on
the Demands for Grants.

3. The Rajya Sabha cannot discuss
the Annual Financial Statement.

Which of the statements given above
is/are correct?

(a) 1 only
(b} 1 and 2 only CSP15
(c) 2 and 3 only

{dj 1,2 and 3




Economy
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88. Consider the following statements :

Statement-I :
India accounts for 3:2% of global

export of goods.

Statement-II :
Many local companies and some

foreign companies operating in India
have taken advantage of India’s
‘Production-linked Incentive’ scheme.

Which one of the following is correct
in respect of the above statements?

(a) Both Statement-I and Statement-II
are correct and Statement-II is the
correct explanation for Statement-I

(b) Both Statement-I and Statement-II

are correct and Statement-II is
not the correct explanation. for
Statement-I

(c) Statement-] is correct but
- Statement-Il is incorrect
(d) Statement-l is incorrect but

Statement-Il is correct

52,

With reference to the international trade of
India at present, which of the following
statements is/are correct ?

1. India’s merchandise exports are less
than its merchandise imports.
2. India’s imports of iron and steel,

chemicals, fertilisers and machinery

have decreased in recent years.

3. India’s exports of services are more than
its imports of services.
4, India suffers from an  overall

trade/current account deficit,

Select the correct answer using the code given
below :

(a) 1and2only
(b)  2and 4 only
(¢) 3only

(d) 1,3 and 4 only

CSP20
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14. Consider the following fauna :
1. Lion-tailed Macaque

2. Malabar Civet

3. Sambar Deer 35. In which of the following States is
, lion-tailed macaque found in its
How many of the above are generally natural habitat?
nocturnal or most active after sunset? 1. Tamil Nadu
2. Kerala
| e Sy e 3. Karnataka
(b) Only two 4. Andhra Pradesh
(c) All three Select the correct answer using the

codes given below.
(d) None

(a) 1, 2 and 3 only

(b) 2 only CSP13
(c) 1, 3 and 4 only

(d) 17’2, 3 ana 9




Environment

16. Consider the following statements :

1. Some mushrooms have medicinal
properties.

2. Some mushrooms have psycho-
active properties.

3. Some mushrooms have insecticidal
properties.

4. Some mushrooms have biolumi-
nescent properties.

How many of the above statements are
correct?
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20. In the nature, which of the following
is/are most likely to be found surviving
on a surface without soil?

1. Fern
2. Lichen
3. Moss

4. Mushroom

CSP2i]

Select the correct answer using the
code given below.
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19. Which one of the following makes a tool
' with a stick to scrape insects from
a hole in a tree or a log of wood?

(a) Fishing cat
(b) Orangutan

(c) Otter

(d) Sloth bear

Q. Among the following, which one is not an
ape? CSP2008

a) Gibbon

b) Gorilla

c) Langur

d) Orangutan




Environment

(a)

. (D)

(c)
(d)

23. Consider the following statements :

Statement-I :
Carbon markets are likely to be one of
the most widespread tools in the fight
against climate change.

Statement-II :
Carbon markets transfer resources
from the private sector to the State.

Which one of the following is correct in
respect of the above statements?

Both Statement-I and Statement-II
are correct and Statement-II is the
correct explanation for Statement-I

Both Statement-l and Statement-II
are correct and Statement-II is
not the correct explanation for
Statement-I

Statement-I is correct but
Statement-Il is incorrect

Statement-l is incorrect but
Statement-Il 1s correct
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Q. Regarding “carbon credits’, which one of
the following statements is not correct? CSP1I
a) The carbon credit system was ratified in
conjunction with the Kyoto Protocol

b) Carbon credits are awarded to countries
or groups that have reduced greenhouse
gasses below their emission quota

c)The goal of the carbon credit system is to
limit the increase of carbon dioxide emission
d) Carbon credits are traded at a price fixed
from time to time by the United Nations
Environment Program




Geography UPSCPREP.COM

Simplify your UPSC Journey

3. Consider the following trees :
1. Jackfruit (Artocarpus heterophyllus)
2. Mahua (Madhuca indica)
3. Teak (Tectona grandis)

How many of the above are deciduous
trees?

(@) Only one

78. In India, in which one of the following

(b) Only two types of forests is teak a dominant tree
(c) All three species?
(d) NO‘:‘C (a} Tropical moist deciduous forest

(b) Tropical rain forest CSP15

{c) Tropical thorn scrub forest

(d) Temperate forest with grasslands
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6. Ilmenite and rutile, abundantly available
in certain coastal tracts of India, are
rich sources of which one of the

following?

(@) Aluminium

) Cappes . Q. Which of the following substances are found in the beach sands of many parts of
(c) Iron Kerala ? (20086)

(d) Titanium 1. lImenite

2. Zircon

. , CSP2006
3. Sillimanite

4. Tungsten

Select the correct answer using the code given below:
a)l,2,3and 4

D) 1,2and 3 only

)
c) 3 and 4 only
)

d) 1and 2 only




Geography

11. Consider the following statements :

Statement-I :
India, despite having uranium
deposits, depends on coal for most of
its electricity production.

Statement-II :
Uranium, enriched to the extent of
at least 60%, is required for the
production of electricity.

Which one of the following is correct in
respect of the above statements?

(a) Both Statement-I and Statement-II
are correct and Statement-II is the
correct explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is
not the correct explanation for
Statement-I

(c) Statement-I is correct but
Statement-II is incorrect

(d) Statement-l is incorrect but
Statement-II is correct

UPSCPREP.COM
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To meet its rapidly growing energy demand, some opine that India
should pursue research and development on thorium as the future
fuel of nuclear energy. In this context, what advantage does thorium
hold over uranium?

1. Thorium is far more abundant in nature than uranium.

2. On the basis of per unit mass of mined mineral, thorium can
generate more energy compared to natural uranium.

3. Thorium produces less harmful waste compared to uranium.
Which of the statements given above is/are correct?

l. lonly

2. 2and3only CSP2012
3. Tand3only

4, 1,2and 3

Answer: Option 4:1,2 and 3




Geography

(a)

(b)

(@)

' 62. With reference to the Earth’s atmosphere,
which one of the following statements is

correct?

The total amount of insolation
received at the equator is roughly
about 10 times of that received at

the poles.

Infrared rays constitute roughly
two-thirds of insolation.

Infrared waves are largely absorbed

by water vapour that is
concentrated in the lower
atmosphere.

Infrared waves are a part of visible
spectrum of electromagnetic waves
of solar radiation.

UPSCPREP.COM
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81.

Consider the following statements :

1. High clouds primarily reflect solar
radiation and cool the surface of the
Earth.

2. Low clouds have a high absorption of
infrared radiation emanating from the
Earth’s surface and thus cause warming
effect.

Which of the statements given above is/are
correct ?

(a) 1lonly

(b) 2 only

(¢c) Both1and2
(d) Neither 1 nor 2

CSP2022




Geography
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63. Consider the following statements :

Statement-I :
The soil in tropical rain forests is rich
in nutrients.

. Statement-II :
The high temperature and moisture
of tropical rain forests cause
dead organic matter in the soil to
decompose quickly.

Which one of the following is correct in
respect of the above statements?

(a) Both Statement-I and Statement-II
are correct and Statement-II is the
correct explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-Il is
not the correct explanation for

Statement-I

(c) Statement-I is correct but
Statement-IIl is incorrect

(d) Statement-l is incorrect but
Statement-II is correct

72. Consider the following States :
1. Arunachal Pradesh

2. Himachal Pradesh

3. Mizoram

In which of the above States do “Tropical
Wet Evergreen Forests’ occur?

fa) 1 only
(b) 2 and 3 only CSP2015

{fc) 1 and 3 only

dl 1, 2 and 3

mplify your UPSC Journey




Geography

(@)

(b)

(@)

64. Consider the following statements :

Statement-I :
The temperature contrast between
continents and oceans 1is greater
during summer than in winter.

Statement-II :
The specific heat of water is more than
that of land surface.

Which one of the following is correct in
~ respect of the above statements?

Both Statement-l and Statement-II
are correct and Statement-II is the
correct explanation for Statement-I

Both Statement-I and Statement-II
are correct and Statement-Il is
not the correct explanation for
Statement-I

Statement-I is correct but
Statement-Il is incorrect

Statement-l is incorrect but
Statement-Il is correct
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Q. Consider the following statements:
CSP2007

1. The annual range of temperature is greater
in the Pacific Ocean than that in the Atlantic
Ocean.

2. The annual range of temperature is greater
in the Northern Hemisphere than that in the
Southern Hemisphere.

Which of the statements given above is/are
correct?

(A) 1only

(B) 2 only

(C) Both1and 2

(D) Neither 1 nor 2
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66. With reference to coal-based thermal
power plants in India, consider the
following statements :

1. None of them uses seawater.

77. Which one among the following
industries 1S the maximum

2. None of them i-? set up in consumer of water in India?
water-stressed district.

3. None of them'is privately owned. toike Biatinsvies

How many of the above statements are

corrects (b) Paper and pulp

I T - CSP2013
(b) Only two (c) Textiles

(c) All three

@ N (d) Thermal power
one
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37. With reference to Agni-IV Missile,
which of the following statements
is/are correct?
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1. It is a surface-to-surface missile.

58. Consider the following statements : - 2. Itis fuelled by liquid propellant
only.

1. Ballistic missiles are jet-propcned 3. It can deliver one-tonne nuclear
at subsonic speeds throughout warheads about 7500 km away.
their flights, while cruise missiles Select the correct answer using the
are rocket-powered only in the ‘code given below.
initial phase of flight. CSP14

(a} 1 only

2. Agni-V is a  medium-range (b) 2 and 3 only

supersonic cruise missile, while {c) 1 and 3 only
BrahMos is a  solid-fuelled (d 1,2 and 3
intercontinental ballistic missile.

Which of the statements given above Q. The range of Agni 2 missile is around
is/are correct? CSP2001

(a) 500km (b)2000 km
(c) 3500 km (d)5000 km
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